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E\ statement |, if the 2"d and 7' letters are exchanged and the same is done between 5! and 8 letter. In
statement Il , if the 1% and 9th |etters are exchanged and the same is done between 4t and 7t letter. In
statement IlI, if the 2" and 8 letter are exchanged and the same is done between the 5'" and 10" letter

than which statement w would form a meaningful word after the rearrangement ? (1 Mark)
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Each of the questions below consists of a question followed by three statements numbered |, Il and lil.
You have to decide the data prowded in which of the statements are sufficient to answer the question.
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Each of the questions below consists of a question followed by three statements numbered |, Il and III.
You have to decide the data provided in which of the statements are sufficient to answer the question.
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Each of the questions below consists of a question followed by three statements numbered |, Il and III.
You have to decide the data provided in which of the statements are sufficient to answer the question.
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A to H are sitting around the circular table. Some of them are facing the center. No two person facing the
same direction sit next to each other. Who sits third to the left of A ? (1.2 Mark)
g
A. D sits opposite to F, who sits third to the right of A, who sits second to the right of B, who faces outside.
B. H sits immediate right of G, who sits opposite to E, who sits left of C.
C. A sits second to the left of C, who sits opposite to B, who faces outside and sits immediate left of G.
D. A sits opposite to H, who sits second to the left of C, who faces outside and sits immediate right of E.
E. None of these
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A to H are sitting around the circular table. Same of them are facing the center. No two person facing the

—

same direction sit next to each other. Who sits third to the left of A ? s E?-)’ ‘ﬁ-)
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D sits opposite to F, who sits third to the right of A, who sits second to the right of B, who faces outside.
H sits immediate right of G, who sits opposite to E,.who sits left of C. 2
kits second to the left of C, who sits opposite toé, who faces outside and sits immediate left of G =
, who outside and sits immediate right of E.

B None of these —
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Q. Which letter is written the most times in step 2 fram the following ? (1.2 Mark)
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Q. If all the letters are written in Engllsh alphabetical order from the left end then which is the 2"d |etter to the
right of 4" letter from the right epd in step 3 ? (1.2 Mark)
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@ What will be the difference between the 2" largest and 2"d smallest number in final output ? (1.2 Mark)
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A government survey was conducted on the agricultural land of village Began vali, representing the annual
productlon of three different crops in the land. Due to some political issue the_results of the survey was sent in
bl
coded form. Each code contain 9 characters. Multlele codes can be sent to convey mforman_o_n_abouw
Each code of 9 characters conveys only one information i.e. wheat, rice 2l sugarcane.
e foIIowmg rule are used to decode each of the 9 character code. oy
the code has an even number of odd dIEItS and odd number of even digits and at least one symbol then the
m of the even digits is the total quintal of wheat in the region and surh of the odd digit is the rice in quintal in
— b——
e region. 3 ev
If all the letters in the code is adjacent to jexactly ne number then thw_of the two highest digits in the
% e is the quintal of rice in the region. —_—
I

f the code has an odd number preceding every even number then the product of all the even digits is the
Z o)-(?vcri

quintal in the region.
he code has only prime numbers in its even places then the sum of the digits in the odd places is the

. . . — —

sugarcane in quintal in the region.
@th_e_c_gdg has more symbols than letters then it indicates that the wheat J'Lquintal.ﬂ,ugarcane in quintal or
ice in quintal in the region is actually double that of the number of wheat in quintal or sugarcane in quintal or ice

in quintal m&;ed by the previous % gharacter code of the region.

All counting of positions in the code is done from left to right. g™
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Depending on the code for the region, that region can be assigned a label. A region can be assigned with multiple

labels , if the conditions are satisfied.

3. If the total sugarcane in quintal and rice is more than 35 the region is marked as ‘UPS’
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4. If the wheat in quintal and sugarcane in quintal in a region is less than 11 the region is marked as ‘APD’

1. If the wheat in quintal and sugarcane in quintal in a region is more than 40 then the region is marked as ‘KGD’«
2. If the rice in quintal is more than twice the wheat in quintal the region is marked as ‘GSP’ &
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@e codes for different re "ons are:>
/ﬁggion 1:
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@rther the following information was also known :
Wheat in quintal in region 3 =12

; ce in qumtal in reglon 1= haIf the wheat in quintal in region 1

...........

Total wheat in quintal and sugarcane in quintal in region 2 = 40
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Jo




Q. What is the total production of Rice in all the regions combined ? (2 Marks)
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Q. Which region has been marked “APD” ? (2 Marks)
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Q. What is the wheat production of the region with highest rice production ? (2 Marks)
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